






18³ − 33² = ? × 15

(A)316.2        

(B)322.5             

(C)328.8            

(D)312.4

(E)None of these 



32 % of 1950 + 25% of 1440 = 1080 − ?

(A) 55        

(B) 96            

(C) 94           

(D) 95

(E) None of these 



78% of 250 − ?% of 300 = 10²

(A) 30.33        

(B) 29.67             

(C) 32.25           

(D) 33.75

(E) None of these 



122 × 44 − 45² = ?% of 400

(A)831.25         

(B) 844.75            

(C)835.75            

(D)825.5

(E)None of these 
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(A) 4 31/40        

(B) 5 17/20            

(C) 5 13/40            

(D) 5 33/40

(E) None of these 



2221 + 3456 + 2435 + 1324  = ?

(A) 9032         

(B) 9136             

(C) 9436            

(D) 9236       

(E) None of these 



3657 + 2546 + 6132 − 3216 + 1214 = ? 

(A) 11333         

(B) 10233            

(C) 10343         

(D) 10333

(E) None of these 



7432 + 2432 + 2642 + 3254 = ? 

(A) 15320         

(B) 17560            

(C) 15760        

(D) 19460

(E) None of these 



√841 × ³√12167 + 9 = ( ? )²

(A)26         

(B)28            

(C)27          

(D)29

(E)None of these 








